AH 1112 CV-19
B.Sc. (Part-I) (Private)
Term End Examination, 2019-20
Paper - 11
Organic Chemistry
Time:- Three Hours ] [Maximum Marks : 33
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Note:  Answer all questions. The figures in the right hand margin indicate marks.
' a1 / Unit - 1
1. (a) BT w1 ® g PrEfH DS B g% U 4R gHBT AT GHE B | .
What is hybridisation and how does it affect the bond properties of organic molecules. 03
(b) 3R W #ifote— Clearly differentiate between- 03
(i) seiEeEl @ fvaedY (Electrophile and Nucleophile)
(i) Sfep=iEaT 7 smar (Nucleophile & Basicity)
(iii) 9o g 9 w1E4 (Freer radical and carbene)
(c) faeiias fafhar @) weame=wr faRad | Write an Elimination reaction with example. 01
sEr / OR
(b) fFrfeRaa @1 wwemge— Explain the following - 1.5x4
(i) sfrg== (Hyperconjugation)
(ii) srafeeras &1 wnfae (Slability of corbocation)
(iii) faya amget (Dipole moment)
(iv) fremfa wma (Mesomeric Effect)
(b) wraffavere Foma @ AT weaw forRaw | Write resonating structures of carboxylate anion. 01
g% / Unit - 11
2. (a) yo1RTS FaTETa 1 2, el Aife @ vareha wu @ afsg 89 @) o1 od &2 orafd sida fa ded & 04
What is optical activity. What are the condition for a compound to be optically active? What is asymmetric carbon.
(b) FrE—g=Mes—MetT T Favor wgfy w@mEd | Describe the Cahn-Ingold-Prelog system of Nomenclature. 03
3erar / OR
(a) IR wWee PIHY- Differentiate the following - 04
(i) wffes fsror g A=A AfF (Racemic mixture and meso compound)
(ii) wfafdfe w9 7 swfafifd w9 (Enantiomer and Diasteriomers)
(b) FPr=ferRaa aroy @1 fer werg w1 faRaw | Write Fisher projection of following molecular - 02
(i) CH3CH(OH)COOH (i) CH,OHCH(OH)CHO
(b) =—= & E/Z ® fo=orw savl ——= Assign E/Z configuration to 01
CH3 Br Br
c < S 4
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3. (a) n-=2A & WUvr g Sl AT By wlke aar=d |
Describe the conformational analysis and energy berrier diagram in n-butane. 04
(b) 9= &1 Tra Rigia Fam 82 WaRI-AMeR A qAr9 e qoral & @ fagid ) 03
What is Bayer's strain theory? What was the theory of stainless ring as proposed by Sachse-Mohar.
armar / OR
(a) STEARIST WA BT WHIYT gAY | G © 7 T W9 B A U BT @i qdqzd | 05
Explain conformations of dimethyl substituted cyclohexane's. Discuss the stability of both conformations of Cis & trans forms.
(b) wEeRRE A e w9 it w9 ¥ F9 wrh @t @ @? Why is boat form less stable than Chair form in Cyclohexane. 02




T

g@1 / Unit - IV

4. frfeiad &1 e sififsanen g Wz
Explain the following with reactions-
(i) gEI-feferr sfafrar (Wurlz-fittig Reaction) ‘
(ii) sragERT™ amafidRer (hydroboration Oxidation) ‘
(iii) <rew Teer afAfkar (Diels Alder reaction) ‘
(iv) Tewragd &1 Sterars (Hydration of Alkynes)

1.5x4

3o / OR ‘

frefeRaa sifafrar a1 ot av- ‘
Complete the following reaction-

(i) CHj3Br+2Na A ‘

10% H2504 |
(i) __OH - A |
<:> 135°C |
(PhCOO0),0

(ili) CH3; - CH =CH, + HBr _  » A ‘

H-.O ‘
(v CH = +0; A |
|
) |
V) H — 0504 A
~ /" NaHso, —————*
c |
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| 4
(vi) CHs— CH,— CH=CH,+ N-Br , A
|
0 |
ga1é / Unit - V |

(a)wﬁmw??mwﬁmmﬂmwﬁvmﬁmﬁgﬂmmmaﬂuﬁmm&mél 03
What is huckeis law? Prove Cyclopentadienl/Carbanain & Troponium Cap#ion are aromatic?

(b)doH R yfems # Wil @1 Renees Adwe wie W | ‘
Explain the directive influence of group in substituted Benzene.

3@ar / OR ‘
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(a) Prefeaa s & frafafy St ome @ W THeEd— | 05

03

Explain the mechanism of following reaction with energy profile diagram.
(i) ¥ % srgdia~or (Nitration in Benzene)
(i) 95 & s wve Aewefiwwor (Frielel Craft Alkylation in Benzene) ‘

(b) @v@ﬂﬁa@mmﬁmﬁﬂﬁmﬁélmﬁ? \ 01

Why Cyclopentadienyl carbocation @@ is not aromatic. ‘



